TANF FATAL/WARNING EDITS

SECTION 3

                                                                                                                                                                 EDIT                                    EDIT

  EDIT #    ITEM #                       DESCRIPTION                                                                              VALUES                                TYPE 


T3-001

T3-002
1
FIPS CODE
ITEM 1 MUST = 01-02,04-06,08-13,15-42,44-51,53-56, 60,66,72,78

IF ITEM 2 > 0, THEN ITEM 1 MUST = 00
FATAL

T3-003
2
TRIBAL CODE
IF ITEM 1 > 0, THEN ITEM 2 MUST = 000
FATAL

T3-004

T3-005
3
CALENDAR YEAR & QUARTER
ITEM 3 (YEAR) MUST = >1998

ITEM 3(QUARTER) MUST >=1 AND =< 4
FATAL

T3-006

T3-007

T3-008

T3-009

T3-010

T3-011
4
TOTAL NUMBER OF APPLICATIONS
ITEM 4A MUST = >00

ITEM 4A MUST = SUM(ITEMS 5A & 6A)

ITEM 4B MUST = >00

ITEM 4B MUST = SUM(ITEMS 5B & 6B)

ITEM 4C MUST = >00

ITEM 4C MUST = SUM(ITEMS 5C & 6C)
FATAL

T3-012

T3-013

T3-014
5
TOTAL NUMBER OF APPROVED

  APPLICATIONS
 ITEM 5A MUST => 0

ITEM 5B MUST => 0

ITEM 5C MUST => 0
FATAL

T3-015

T3-016

T3-017
6
TOTAL NUMBER OF DENIED APPLICATIONS
ITEM 6A MUST => 0

ITEM 6B MUST => 0

ITEM 6C MUST => 0
FATAL

T3-018

T3-019

T3-020
7
TOTAL AMOUNT OF ASSISTANCE
ITEM 7A MUST => 0

ITEM 7B MUST => 0

ITEM 7C MUST => 0
FATAL

T3-021

T3-022

T3-023

T3-024

T3-025

T3-026
8
TOTAL NUMBER OF FAMILIES
ITEM 8A MUST = > 00

ITEM 8A MUST = SUM(ITEMS 9A,10A&11A)

ITEM 8B MUST = > 00

ITEM 8B MUST = SUM(ITEMS 9B,10B&11B)

ITEM 8C MUST = > 00

ITEM 8C MUST = SUM(ITEMS 9C,10C&11C)
FATAL

T3-027

T3-028

T3-029
9
TOTAL NUMBER OF 2 PARENT FAMILIES
ITEM 9A MUST => 0

ITEM 9B MUST => 0

ITEM 9C MUST => 0
FATAL

T3-030

T3-031

T3-032
10
TOTAL NUMBER OF 1 PARENT FAMILIES
ITEM 10A MUST = >0

ITEM 10B MUST => 0

ITEM 10C MUST => 0
FATAL

T3-033

T3-034

T3-035
11
TOTAL NUMBER OF NO PARENT FAMILIES
ITEM 11A MUST = > 0

ITEM 11B MUST => 0

ITEM 11C MUST => 0
FATAL

T3-036

T3-037

T3-038

T3-039

T3-040

T3-041
12
TOTAL NUMBER OF RECIPIENTS
ITEM 12A MUST = > 0

ITEM 12A MUST = SUM(ITEMS 13A&14A)

ITEM 12B MUST = > 0

ITEM 12B MUST = SUM(ITEMS 13B&14B)

ITEM 12C MUST = > 0

ITEM 12C MUST = SUM(ITEMS 13C&14C)
FATAL

T3-042

T3-043

T3-044
13
TOTAL NUMBER OF ADULT RECIPIENTS
ITEM 13A MUST = >0

ITEM 13B MUST => 0

ITEM 13C MUST => 0
FATAL

T3-045

T3-046

T3-047
14
TOTAL NUMBER OF CHILD RECIPIENTS
ITEM 14A MUST => 0

ITEM 14B MUST => 0

ITEM 14C MUST => 0
FATAL

T3-048

T3-049

T3-050
15
TOTAL NUMBER OF NONCUSTODIAL RECIPIENTS
ITEM 15A MUST => 0

ITEM 15B MUST => 0

ITEM 15C MUST => 0
FATAL

T3-051

T3-052

T3-053
16
TOTAL NUMBER OF BIRTHS
ITEM 16A MUST => 0

ITEM 16B MUST => 0

ITEM 16C MUST => 0
FATAL

T3-054

T3-055

T3-056
17
TOTAL NUMBER OF OUT OF WEDLOCK BIRTHS
ITEM 17A MUST => 0

ITEM 17B MUST => 0

ITEM 17C MUST => 0
FATAL

T3-057

T3-058

T3-059
18
TOTAL NUMBER OF CLOSED CASES
ITEM 18A MUST =>0

ITEM 18B MUST => 0

ITEM 18C MUST => 0
FATAL

                                                                                                         1                                              All data is Right Adjusted
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